MATH 5B - TEST 1

Chapter 6, excluding 6.7)
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will be given for solutions if work is not shown
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Fill in the blanks. (2 points each)
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(b). Given the graph of f'(x), sketch the graph of f‘l(x) and use it to explain if why your answer in part a is

is reasonable. (2 points)
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(12) Find the derivative of each of the following functions and simplify: (4 pts each)
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(13). Find % if y2 :ln(x3+y) . (6 points)
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(15) Find the value of each of the following integrals. (simplify answers exactly)

(5 pts each)
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(15 (cont’d)
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(16) Find each of the following limits. Calculus steps must be shown and correct notation
must be used: (4 pts each)
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(16 cont’d)
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